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B. Com. (Part IT) EXAMINATION, 2020
(Old Course)
(Group—III : Applied Economics)
Paper First
BUSINESS STATISTICS
Time : Three Hours
Maximum Marks : 75
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Attempt all the five questions. One question from each
Unit is compulsory. All questions carry equal marks.
TIE—1
(UNIT—1)
1. Revores wiaa | o o w9s@ € ?  Rwvnes
wiRea! G gt wikEa! ¥ =R qaEy |
What do you mean by Descriptive Statistics ?

Differentiate between Descriptive Statistics and
Inferential Statistics.
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Add the numbers 6, 4, 8, 2, 5, 7 using summation
symbol.
@ Frafalea sifesi @ wiftas & o AT : 10
3iF (| 7) frenfifal @ wen
80 100
70 90
60 30
50 60
40 32
30 20
20 13
10 5

7 fag gy
25 4
35 6
45 20
S5 11
65 9

Calculate mean deviation from mean and its coefficient
for the following frequency distribution :

Calculate Median from the following data :

Marks (Less than) No. of Students
80 100
70 90
60 80
50 60
40 32
30 20
20 13
10 5
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Mid-value Frequency

25 4
35 6
45 20
55 11
65 9

frefofea wiel | @t Ruda @ Rwwar s s
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35 afdd ¥ 4.5 vy <afdg & Ruw | o &

40 afdd ¥ 55 wfy afd @ R @ o &

48 Afda T 6.5 vfa @fde & Rue @t &

100 a@fdd T 75 vt wafda @ Rue 4 o &
125 @fda T 85 vt =ofd @ Rue @ &
87 afda T 95 iy @il & Rue ? T &
43 =fda T 105 iy @l & fRae @ o &
22 &fd T 115 9fy aftd & Rue ¥ o €
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From the following data, find out Karl Pearson’s

coefficient of skewness :

35 persons get @ ¥ 4.5 per person
40 persons get @ ¥ 5.5 per person
48 persons get @ T 6.5 per person
100 persons get @ T 7.5 per person

125 persons get @ ¥ 8.5 per person '

87 persons get @ T 9.5 per person
43 persons get @ ¥ 10.5 per person
22 persons get @ T 11.5 per person
T3
(UNIT—3)

@) wE-g=w @ e ? @ N B A9 QR sagy) s
What is Correlation ? Mention the name of three

methods to measure the same.

@ Rk & Y gRr X 7 Y @ 99 we-www
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Find out the coefficient of correlation between X
and Y by the method of rank differences :

X X
20 16
22 15
24 20
L 21
30 19
32 18
28 22
21 24
26 23
35 25
JpFar
(Or)
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' X 1 Y
20 16
22 15
24 20
25 21
30 19
32 18
28 22
21 24
26 23
35 25
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Given the following values :

Yield of Wheat Mean Standard Deviation
Area (kg per unit) 10 8
Rain (in cm) 8 2

(A-57)

Correlation coefficient between production and rainfall,
r=H.5i

Estimate the yield when rainfall is 9 cm.

(A-57) P.T. 0.
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TIE—4

(UNIT—4)

qadie! B I gd WA qeEy |

4. “qawie offe @ Awe €17 RdwEr @R @n

“Index numbers are economic barometers.” Discuss and

explain the utility and limitations of Index Number.

Fgar
(Or)
Prafifea sifes! / ~graw ot IR g1 STl e s
g -
af T
2013 75
2014 67
2015 68
2016 65
2017 50
2018 54
- 2019 41
Calculate trend values by the method of least squares
from the data given below :
Year Values
2013 75
2014 67
2015 68
2016 65
2017 50
2018 54
2019 41

(A-57)
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TIE—5

(UNIT—S5)
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gl
What is business forecasting ? Explain those statistical
methods which help in business forecasting.
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There are 100 tickets numbered from 1 to 100. They
are well shuffled and a ticket is drawn at random.
Find the probability that the number on the ticket
drawn is a multiple of 3.

@ 9w P R g R gy ad-ad § d@R
W E I aRem E S ai g e ? - s
Four cards are drawn successively at random

without replacement. What is the probability that
four will be Aces ?

ey 1,900

(A-57)



